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Instructions:
E4EA:
EZEMAL

> Question number 1 to 20 are of short answer type.
E1E20BEHRETE.
F1E20E R EE-H,
> Each question carries 10 marks.
BEG10D.
BE L1097,

In a college of 500 students, every student reads 5 newspapers and every
newspaper is read by 50 students. The number of newspapers is
E—RES00BBENKE  BNBLEBEBESRBE , MBRMEKS0LE
L EE. HENBER 0


mac


HE—RBS500BFENKE , BNUFERRSKRE , MEBKREWS0VF £

B, MANHER 0

In tossing 10 coins, the probability of getting exactly 5 heads is k, find k.
WEBEE10X%E , BERFSE LHBREK Fkibk.

WEET10RG , REBRIFSNNHBERRK, HFik ko

Find the coefficient of x%in the expansion of (1+x2)3(1+x).
FHE(1+x2)5(1+x)* B RAERCH R E.
K (1+x2)5(1+x)*BFF ExSH R ¥

If P denotes the power set of A and A is the void set, what is the number of

elements in P{P{P{P(A)}}}?

"/

EP RANEEMARZEE | FBRAP{PPIPAY)) TEMNEERSZ L ?

£P RAWREMAREE | HHPPPPA)N TENUEBRZD ?



5.

If z is a complex number such that z+|z|=8+12i, find the value of |z2|.
£z R—BE , F8z+z|=8+12i , FHH |22V EE.
HzZREY , F8z+zI=8+12i , BRE |22/ EE,

The sum of i-2-3i+4... up to 100 terms, where i= V-1, is

i—2-3i+4...’N E1001H 2 2 , Hepi= V-1,
i—2-3i+4...’Y § 10051 2 2 , Hepi= V-1,
7.

Find the number of integral values of k for which the equation

7cosx + 5sinx=2k+1 has a solution.

W EREK WEEMFEBHTE7cosx + 5sinx=2k+1 B,
W EEBK WREMFEBHE7cosx + 5sinx=2k+1 B,



8.

If (-4, 5)is one vertex and 7x-y+8=0 is one diagonal of a square, then find the

equation of the second diagonal.

(-4, 5)REAFFEN—TER K MAERFENEP—HREBRNFERTXx-y+8=
0, FHRHERERFES —FREA/RNGTE

B4 5)REAFEN-—TIR , MZEARFEHNEP -—FZXNBLNHRERTX-y+8=

0, FHRHEHZEAFFES —FNALNGTE.

Let A be the centre of the circle x2+y?-2x-4y-20=0,and B(1,7)and D(4,-2) are
points on the circle, if tangents are drawn at B and D, which meet at C, then

find the area of quadrilateral ABCD.

SRABEIx2+y2-2x-4y-20=00 B , B(1,7)MD4,-2)2E LK B, EHBRDFR

ENTIRNCRMAR, FHk M2 XABCDIEME.

RAR Ex2+y2-2x-4y-20=0M AL , B(1,7)FD(4,-2)2E LW =, &MBHDFR

By 4k TCRMZK, 15 i Mia FZABCDHYE R



10.
There are three men and seven women taking a dance class. Find the number
of different ways in which each man is paired with a woman partner, and the

four remaining women are paired into two pairs each of two.

ZEBTMERBLEB2HET —BEY. FREESEZ5TN—BgEMRE
&, ARIEHT MR Z MRS R 7 R R B

ZEBIMERBLZESET —BE. FREESESTM— B ARE
B, URIERT B Z L HH B 5 EN S8

11.

Let P(x)=aotaix?+axx*+.....+anx?" be a polynomial in a real variable x with
O<ap<ai<aq<....<an. The function P(x) has:

RE’RP(X)=ao+aix2+axx4+.... +ax 2 — UxABEBENZ1ER | HPO<ar<ai<ay
<....<an, BEEBEP(x):

RRIRP(x)=aotaix?+axx*+....+anx?" B — Bx N KX BN ZWMN , HHF0<ao<ai<az

<...<an, BBABEBP(X):



(A) Neither a maximum nor a minimum
REBAEMENE
RERAREMKIE

(B) Only one maximum
RE-—@EmBXE
RE—IHKRE

(C) Only one minimum
RE—@E®/NME
RE— 1 WME

(D) Only one maximum and only one minimum
RE—EABXEN—E&/ME
RE-IWAREN—MRIME

12.

If an angle B is a complement of an angle A, what are the greatest and least
values of cos A cos B respectively?
EANBAEES |, B8EEcos A cos BNRRXEMNZ/MEDRIRZD ?

EANBRNERA , BB4cos A cos BHRAENZ/NMED R Z D ?



13.

Nancy obtained 70 and 75 marks in the first two tests. Find the minimum marks
she should get in the third test to have an average of at least 60 marks.
BB D BIEETOM755 ., FHREMFEEEZNRESHRE
78, EEHEFITRD

A EERRXNE S AFRET0M755, FHRELFTEEE=ZXNNRRENHE

\\
at

607 .

A fair die is tossed 180 times, the standard deviation of the number of sixes

equal to

— R AR FREB180K , BBHNEEER 0
— RN FEHRFEI180K , WBONIFEER 0
15.

Find the remainder when Vn, 32" is divided by 8.
%?ﬁﬂj\dn, 32n B}%J«XSE’}J%%{O
EH VN, 320 BREASHI R,



16.

The minimum value of y=xe*is

y=xex &/ ME =2 o

y=xex B9/ MER o

17.

Two dice are thrown at the same time for n times. Find the probability of obtai
ning a double six at least once.

M FE R T [E] B AR BBk, R & D — IR R F 9B RI6RYBLR,

PR AR T B B AR B nIR . W& D — XA ER 79 BRI B R,



18.

zZ

If w= y and |w| =1, then z lies on
zZ—1
3

W%W:ZfEMF1,MzﬁT
z—}i

m%w=z7ﬁmp1,%zﬁm
z—}i

(A) an eclipse
—fREF L
— R L

(B) a circle
—EF Lt
—EF L

(C) a parabola
— MR |
— e £

(D) a straight line

—E#RL

@

[

%L



19.

Given the relation R={(1,2),(2,3)} on the set A={1,2,3}, find the minimum
number of ordered pairs which when added to R make it an equivalence
relation.

EHIEEEA={1,2,3}F , R={(1,2),(2,3)}, FEREEFEEHNEENT/NME , &£
SEELHHMARE , SERRER.

BEHEEESA={1,2,3}F , R={(1,2),(2,3)}, BEREEFHENWHENT/NME , £

BHXEHXNMARE , FNXRHI,

20.
If p : Itis snowing, q : | am cold, then the compound statement 'it is showing

and it is not that | am cold' is given by

P4
/

-,
-,

£p: TE®, g REIH, BEEARE TTERMRTRES ) HREXR
£p: TE®, g REIH, BLEANKE TTERMRTHES ) HREXR

P

(A) pA(~q)

(B) pAq

END OF PAPER



